KEY ANSWER
Achievement Test : 04

Subject : English Formative Assessment 4 Marks : 20

Class : 10th Time : 45 minutes

Q.l Do as directed.

3x1=3
1) Read the given conversation and choose the appropriate question for the underlined sentence.
Swami: “Let me sleep in the hall. Your office room is very dusty and there may be scorpions.”
Father: “There are no scorpions little fellow.”
A) Where is room? B) How was the room? c) Where are the scorpions? D) Which is the room?
Answer: B) How was the room?
2) Read the conversation and choose the appropriate language function for the underlined sentence.
Vijay: Good morning, Sir,
Dr.Pradeep: Very good morning. What can | do for you?
Vijay: Sir | am Vijay, | would like to join yoga classes. Could you please give me the details?
A) Giving directions  B) Seeking information C) ordering D) Advising
Answer: B) Seeking information
3) Choose the correct parts of speech of the underlined word.
Manjunath rides the bike slowly.
A) Noun B)Adjective C) Adverb D) Verb
Answer: C) Adverb
Q.Il Answer the following questions in two or three sentences. 2x2=4

4) Who can best ensure our safety in the world and how?

Answer: The scientists with their tools that are up to the challenge can ensure our safety in the world.

5) What changes came over Wangjia as the Bird of Happiness caressed him?
Answer: When the Bird of Happiness caressed Wangjia, magical changes took place. His eyeballs flew

back to their sockets, and he saw much more brightly than before. All his wounds were healed and he
was stronger than ever.

Q.lII Read the following extract and answer the questions that follow. 2x3=6
6) “My son is not dumb. His hearing is a little bad.”
a) Whose words are these?
Answer: Satish’s father
b) What was the name of his son?

Answer: Satish

c) What made the speaker say so?

Answer: Another school informed him to take Satish to the school for deaf and dumb children.

7) “There won’t be any calendar, there won’t be any clock;
day light will be on the switch and winter under lock.”

a) Why are the calendars, useless in the outer space?



Answer: The rotation of the space craft makes quick day and night.

b) ‘'winter under lock’ what does it mean?
Answer: The expression “winter under lock,”means, that there is no change of weather.

¢) Which location refered to ‘there’?

Answer: The space

Q.lIV Quote from memory.

Answer:
O say what is that thing call’d Light,
Which | must ne’er enjoy;
What are the blessings of the sight,
O tell your poor blind boy!

OR

The quality of mercy is not strained;

It droppeth as the gentle rain from heaven

Upon the place beneath. It is twice blest;

OR

It blesseth him that gives and him that takes:

Q.V Look at the picture and write a paragraph on it.

9)

1x4=4

1x3=3

Answer: | had a terrible bike accident yesterday. | was coming back from the institution to home that
a car hit me while overtaking. | have sustained some minor external injuries but my physician has

advised that there are some internal injuries that needs to be recovered, followed by further

diagnosis. | may be given by proper treatment as early as possible.
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